
Mixed problems
Area and perimeter of composite 2D-shapes

1. Calculate the perimeter and area of the 2D-shapes below.
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2. The 2D-shape alongside consists of a trapezium, kite and
rhombus. If AB = BC, BE = 17 cm, PF = 6 cm and PG =
8 cm, calculate the perimeter and area of the 2D-shape.

Calculate the perimeter and area of shape ABCDE on the right.
Divide ABCDE into common 2D-shapes by producing DE to F on BC. 
DF = AB – DE = 6 cm (opposite sides of rectangle are equal)
FC = BC – BF = 6 cm (opposite sides of rectangle are equal)
CD2 = CF2 + DF2 = 36 cm2 + 36 cm2 = 72 cm2, so CD =  √

 ___
 72   cm

Perimeter of ABCDE = (14 + 14 +  √
 ___

 72   + 8 + 8) cm = 52,49 cm
Area of ABCDE  = Area of rectangle ABFE + Area of △CDF 

= (14 cm × 8 cm) +   1 _ 2  (6 cm × 6 cm) 
= 112 cm2 + 18 cm2 = 130 cm2
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Let's Practise: mixed problems

Mixed problems
Geometry of 2D-shapes and straight lines

1. ABCD is a quadrilateral with AB || DC, AD ⊥ AB and DB ⊥ BC.
If AB = 12 cm and AD = 9 cm, answer the following questions.

a) Calculate the length of BD.

b) Explain why ABCD is a trapezium.

c) Prove that △ABD ||| △BDC. d) Calculate the length of BC and CD.

e) Calculate the perimeter of ABCD. f) Calculate the area of ABCD.

2. In the composite shape PT ⊥ SR, QU ⊥ SR,
PT = TU = UQ, TS = UR, PQ = 24 cm and PS = 26 cm.

a) Explain why PQUT is a square.

b) Calculate the length of ST.

c) Prove that △PTS  △QUR.  d) Calculate the shape’s perimeter and area.

D C

BA
1

1

2

2

12 cm

9 
cm

Q

RUTS

P 24 cm

26
 c

m

1

1 1

12

2 2

2

© Oxford University Press Southern Africa 


